T2
DT Ol - TS AIAE PE(SDRAYLHE /A
DPE P2 AEEH HE(2YSEIA) CHe &)
S - FH - e2(3) - MISAS - BES Oil &t J 3N Hws2
2E2SH 10,806,555 11,072,746 £.266,191
= 23,000 23,000 0
p) 2,348,250 2,348,250 0
EN 3,612,295 3,612,2% 0
[ 4,823,010 5,089,201 £.266,191
- US AAE RS (SITANLE/AE 10,680,218 10,937,8% £257,678
= 23,000 23,000 0
p) 2,348,250 2,348,250 0
A 3,612,295 3,612,295 0
[ 4,696,673 4,954,351 ~257,678
X 72 AL SE(AUSEEA) 9,074,140 9,331,818 £257,678
p) 2,348,250 2,348,250 0
A 3,389,3% 3,389,3% 0
[ 3,336,4% 3,594,173 £257,678
MIREZSU AlEEH 22 988,245 1,245,923 £257,678
202 O4H| 1,350 1,500 2150
01 =LHOIHI 1,350 1,500 2150
ORx7Z2&Hl a8 &l 1,350 1,500 A150
401 Al HI 2L R OHH 0 220,000 £220,000
01 Al 0 220,000 £.220,000
OM97 20 ZEAAela 75 0 220,000 £220,000
405 XHAHESHI 986,8% 1,024,423 237,528
01 AMASEFSH| 986,89 1,024,423 A37,528
OoUAZsaY 2% 66,720 67,200 £480
OFX 224 ZHl 7Y 235,078 236,713 21,635
OBIERXM FEZH 7 63,952 75,240 211,288
OKINES A 7 473,3% 477,520 £4,125
ONM97SU ZEAela 2= 0 20,000 £A20,000
SITHOY & THHOIMAIAE RE(S3EMUHA/A 95,385 104,040 28,655
OBt E HRH(ALSHEH) %,385 104,040 18,655
T0I AYOIMTIISK JIBt =4 69,815 73,750 23,935
201 Leh2 Y| 52,613 56,470 3,857
01 AtR2t2I] 26,373 27,070 £B97
OsI=2119H L HH 29 0 630 £630
Ol MHAM=ZAHAUNS 2 573 640 267
02 Bz24l 1,440 1,600 2160
OOISoHMRE X 2 1,440 1,600 2160
03 SAL2 Z Y| 24,800 27,800 £3,000
OsI=21198 A HH 29 0 3,000 £3,000
301 LEtEEZ 5,602 5,680 AT8
1 SALAHIXIRZ 5,602 5,680 AT8
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